BJT Lab
( http://nanohub.org/tools/bjt )
Saumitra R Mehrotra 
Problem Background
 
We will design an audio amplifier in this exercise. The BJT to be used as an amplifier has the following structure made of Silicon.

 




















































































The above BJT will be used to in the following amplifying circuit.




































































































































 The input sound is converted to electric signal which rides on top of  Ibase (=2µA). A load resistance of 500 kΩ is used along with a power supply of VCE=20V.

Q1. Calculate how much amplification is generated by this design (βAC)?
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